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6.
Compare the corresponding ratios for Interrogatories 4 and 5 above and comment on any differences.

Response

The Utility ratio for 1997 (calculated with mark-up) happens to be similar to the 1996 ratio.  However, the transfer price amount determined for 1997 is calculated based on the Phase II cost model which produces the Annual Equivalent Cost using an incremental, current cost approach.  The 1996 ratio is based on the Phase III model and uses an allocation of capital costs accumulated up to a single point in time.  As such, meaningful comparisons cannot be made between the two ratios.



















